
1 / 1

Sample case product sheet

© Schletter GmbH • Gewerbegebiet an der B15 • Alustraße 1 • 83527 Kirchdorf/Haag i. OB • Germany • Phone: +49 8072 9191-200
Fax: +49 8072 9191-9200 • E-mail: solar@schletter.eu • www.schletter.eu • last update 02/2011 • subject to change without notice

Sample case
Give your customer something "touchable"

•		 Compact
•		 Well arranged
•		 It shows the essential components of the  
		  Schletter solar mounting system 
•		 Including documentation

 
 
Name 
 
Roof hook Rapid 45V Frankfurter Pfanne, assembled 
Distance tube made of plastic for on-rafter insulations 
Distance piece for roof hook mounting 2mm
Distance piece for roof hook mounting 5mm 
 
Fastening kit FixPlan KlickTop with hanger bolt 10x200mm for corrugated 
sheet metal roofs - sealing disc 
 
Trapezoidal clamp Fix 2000 KlickTop incl. 4 sheet metal screws KlickTop 
Gauging tool Fix2000 (for measuring the dimensions of the trapezoidal sheet metal) 
Standing seam clamp kit 510 für KalZip, kit including mounting angle 
 
FixT fastening kit (screw EPDM form piece, tube) 
 
Module bearing profile Eco 05 
Module bearing profile Solo 05 
Module bearing profile Profi 05 
Module bearing profile ProfiPlus 05 
Lightning protection clamp aluminum, completely pre-assembled (for wire diameters of 8 or 10mm) 

System upper profile for FixZ-7 
System lower profile für FixZ-7 
 
Plastic end cap, only for Solo05, Profi05 
Klick component for square nut M8 KlickIn for all profiles 05 with KlickIn-screwing channel 
Cable clip ProClip-S, rectangular, to be inserted into the Klick channel M8 
Cable clip ProClip2000-B, round, to be inserted into the Klick channel M10 
Cable clip ProClip-C, rectangular, to be inserted between the upper and the lower screwing 
channel - for Solo05 and Profi05 
 
Cross beam connector Solo or ProfiPlus, 07 series, completely pre-assembled 
Cross beam connector Profi, 07 series, completely pre-assembled 
Rail cross connector KlickTop with screw, Klick and square nut for Klick groove M8 
 
Aluminum module middle clamp 100mm, for modules starting from 31mm 
Aluminum module end clamp 100mm for module 36mm   
Middle clamp Rapid2+ 40 - 50 mm, assembled  
Earthing clamp Rapid2+ 40 - 50 mm, assembled 
End clamp Rapid2+ 28 to 39 mm, assembled
End clamp Rapid2+ 40 bis 50 mm, assembled 
End clamp Rapid2+ 50 mm, assembled 
Glass module middle clamp Eco6 for laminates 6.8mm 
Glass module end clamp Eco6 for laminates 6mm 
Glass module middle clamp Profi narrow for laminated modules 3-14mm 
Glass module end clamp Profi narrow for laminated modules 3-14mm 
 
Small parts (screws, etc.) 
Documentation

195000-004   (400651-1)	 Standard sample case

  
Item no.		
 
101001-001 
109009-001 
109006-002
109006-005 
 
111110-200	
		   
 
113002-000 
119009-000 
112002-000 	
	  
 
			 
120001-001 
120002-001 
120003-001 
120004-001 
135003-000
 
121001-001 
121002-001 
 
129011-000 
129010-008	
129012-008
129012-010 
129005-000	
  
			 
129002-001 
129003-001 
129004-000  
			 
130002-001	
130001-036    
131003-001	
135002-001	
131002-000	
131002-001	
131001-050	
133260-068	
133160-068	
132001-000	
132002-002	

(430 801) 		   

(400 896) 		   

(400 893-2) 	

(400 893-5)	  

  

(430 504-10-200) 

 

 

(400 873k) 

(400 873-ML) 	  

(400 510)	  

 

			    

 

(430 071)		   

(430 070)		   

(430 010)		   

(430 015)		   

(430 035)		   

(400 086)		   

(400 087)		   

 

(430 028)		   

(430 024) 		    

(498 111) 		   

(498 120) 		   

(498 114) 		    

			    

 

(430 027-m) 	  

(430 023-m) 	  

(430 520-m8) 	   

			    

(400 230-o) 

(400 436-o)	     

(430 811)		    

(430 821)		   

(430 812)		

(430 813)		   

(430 850)		   

(400 257)		   

(400 258)		   

(400 295)		   

(400 297)

©
 S
ch
le
tte

r G
m
bH

, 2
01
1,
 I4
00
12
1G

B
, V

2

Attention:	All aluminum components are anodized, all VA-components are bead blasted


